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76- Just imagine ............... in a country where it is always warm and sunny. What will you do?
1) lived 2) living 3) to live 4) be living
77- The man .............. for the best place to park his car has spent a lot of time.
1) looks 2) looked 3) looking 4) to look
78- A: "Nobody could move the piano."
B: "I think it was ............... to move."
1) so heavy 2) too heavy 3) very heavy 4) such heavy
79- She continued to carry out her duties, ............... she was in poor health.
1) although 2) so that 3) whether 4) because
80- In Most ...ccccveunune the drug has no side effects.
1) sources 2) stances 3) balances 4) instances
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81- Books had to be written by hand before the ............... of printing.
1) invention 2) observation 3) competition 4) presentation
82- Can computers ............... different objects without any instructions?
1) design 2) compose 3) predict 4) inform
83- Our schools should ............... more time to scientific subjects.
1) raise 2) devote 3) transfer 4) express
84- Don't be ............... about everything!
1) brilliant 2) national 3) straight 4) emotional

85- All of the performers played

1) economically

um Cloze Test

2) mainly

...... in the concert.
3) wonderfully

4) fortunately

Aristotle said that a speaker has three main ways of trying to persuade his audience. He may apply to
their ...86... by giving them proofs of what he says, showing that certain things are true or ...87...to be
true. He may also apply to their feelings, ...88... them to anger or fear or Pity. He may also use words
... 89... make them believe in him and ....90.... whatever he says. The rise to power of Adolf Hitler in

Germany in the 1930s rested largely on his ability to persuade huge crowds with his speech.

86- 1) region 2) inaction 3) emotion 4) reason
87- 1) suitably 2) firmly 3) possibly 4) softly
88- 1) enhancing 2) exciting 3) rising 4) surviving
89- 1) in order that 2) for 3) so that 4) so as to
90- 1) accept 2) access 3) operate 4) offer

mm Reading Comprehension
mE Passage I:

Global Warming is a term used to describe an increase in the average surface temperature of the
Earth over a period of time. It can refer to past periods of warming, such as the one occurred about
15,000 years ago, towards the end of the last Ice Age, but it is usually used to mean the change in the
climate that it is thought likely will occur as a result of the greenhouse effect, as explained below.

The present average surface temperature of the Earth is about 15° C (59° F) and this varies by a
few tenths of a degree each year. Over longer periods of time, the Earth's surface has been both
cooler (perhaps about 11° C or 12° C (between 52° F and 54° F) during the Ice Ages, or glacials) and
warmer (perhaps about 16° C (61° F) during some periods between the Ice Ages- the interglacials).
Over the past 100 years or so, the average surface temperature has increased by about 0.5° C (1° F).

The most probable explanation for the present global warming is that it is the result of increasing
concentrations in the atmosphere of greenhouse gases - such as carbon dioxide, methane, and
chlorofluorocarbons - which allow energy from the Sun to reach the Earth, but prevent some of it
from escaping back into space. These gases have been steadily building up for over 100 years, largely
as a result of mankind's use of fossil fuels, such as coal and petroleum, to provide energy. Since we
will almost certainly continue to rely on fossil fuels as our main source of energy for many years to
come, and since the Earth's population is expected to have doubled by the year 2100, the
concentrations of greenhouse gases will continue to rise throughout the next century. It is estimated
that global warming will increase the average surface temperature of the Earth by between 1° C and
2°C(2°F and 4° F) by the year 2100.

91- What is the best definition for global warming?

1) A collection of different climates around the world.

2) The change in the climate that happens as the Earth grows older.

3) An increase in the average surface temperature of the Earth over a period of time.

4) The past periods of warming about 15,000 years ago, towards the end of the last Ice Age.
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92- According to the passage, the surface temperature of the Earth ............... .

1)isnow 16°C 2) has increased 0.5 ° C every year
3) was about 11° C during the glacials 4) was coolest during the interglacials
93- The present global warming happened because of ............... .
1) energy escape into space 2) the energy flow from the Sun to the Earth

3) an increase in some gases in the atmosphere 4) the Earth's getting warm during the Ice Ages
94- The word "steadily" in the 3™ paragraph is closest in meaning to ............... .

1) commonly 2) previously 3) certainly 4) continuously
95- It is not expected that in the near future, ............... .

1) fossil fuels will stop to be used

2) the Earth's population will decrease

3) global warming will be less severe than it is now

4) greenhouse gases will continue to decrease throughout the next century

mm Passage ll:

One of the reasons why human beings have become such a successful and dominant species in the
world is because of the ability we have to cooperate with each other, to work in groups. Groups may
form for a wide variety of purposes, some informal, such as a gathering of friends, others formal, such
as a committee.

Formal groups often develop strict rules about procedure. A committee may appoint a
chairperson, a secretary, and a treasurer. The group will have rules about how a meeting is to be
conducted. After the meeting a formal record of what happened will be made and distributed to
members. Some groups of this sort, such as a commercial company, will have an order in which
communication conforms to rules, a person may be given orders by someone above, and then pass
orders down to someone below. People will communicate with those above them in the grading,
those below them, and those on the same level as themselves.

Even in an informal group, communication is always more complicated than it is between two
individuals. Some people feel very nervous when they are in a group; they might either keep quiet
and say nothing at all, or else they may start speaking and never want to stop. To work well in a
group, you have to learn to listen as well as to speak, and you must be prepared to change your mind,
or to agree to cooperate with other people present. No group works well if its members are selfish
and stubborn.

96- What is the best title for the passage?

1) Secrets of Social Life 2) Formal and Informal Groups

3) Communication of Dominant Species 4) Human Relations in Groups
97- The word "it" in paragraph 3 refers to ............... .

1) formal group 2) individual 3) communication 4) informal group
98- The word "strict" in paragraph 2 is closest in meaning to ............... .

1) correct 2) exact 3) perfect 4) private

99- What is the main idea of the second paragraph?
1) People should learn how to hold a meeting.
2) In companies, orders are given to people in a strict way.
3) In formal groups, people only communicate with those above them.
4) Members of formal groups cooperate with each other according to certain rules.
100- It can be understood from the passage that to communicate well in a group, you need to ............... .
1) listen better than you speak 2) be open to ideas different from yours
3) learn how to make all members think like you  4) agree with all the selfish and stubborn members
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